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1.

Which one of these is not used in the five-number summary?
(A) minimum

B)Q

(C) mean

(D) median

(E) none of the above

. Suppose for 15 independent Bernoulli trials with probability of success of .99, what is the

probability all are successes?
(A) 0.86

(B) 0.01

(©)0.14

(D) 0.99

(E) none of the above

. In a certain lottery, the cost of a ticket is $5. There is a 1 out of 100 chance of winning $100

and a 1 in 20,000 chance of winning $100,000. If you purchase 1 ticket, what is your expected
gain?

(A) 833,365

(B) $6

(C)$1.05

(D) $2.05

(E) none of the above

4. A two-sided p-value for a hypothesis test is a one sided p-value

(A) half as big as

(B) twice as big as

(C) the same as

(D) always smaller than
(E) none of the above

. Which of the following is not a law of probability?

(A) law of complement
(B) addition law

(C) empirical law

(D) multiplication law
(E) none of the above

. For a continuous random variable X with mean p what is the P(X =p.)?

A)1l

B)0.5

©0

D)u

(E) none of the above

. The standard deviation of the mean will never be greater than

(A) the sample mean.

(B) the population mean.

(C) the population variance.

(D) the population standard deviation.
(E) none of the above.
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8. The randomized block experiment is based on the partition of the total sum of squares into
_ components.
A1
(B)2
©€)3
(D) 4

(E) none of the above

9. Which of the following is an assumption for the small sample matched pair comparison?
AX,,X,,..X, and Y,,Y,,..,Y, areindependent.

(B) The differences, D, =X, —Y, are normally distributed.
©) X,,X,5, X, and Y, Y, Y,, have the same variance.
(D) n, and n, are each at least 15.

(E) none of the above

10. Which of the following is true if A and B are independent?

(A) P(B | A)=P(A)

(B) P(AUB)=P(A) + P(B)
(C)P(ANB)=P(A)P(B | A)

(D) All of these imply A and B are independent.
(E) none of the above
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